
User Manual

LEFT RIGHT



K 8PCS

1 2

You need Hardware List

1PC

2 1 person is needed1 Tools required
A Phillips head scre 
wdriver is required for 

the assembly of this 
product.（not included）

Power tools should 
not be used to assemble 
this product.

20PCS 1PC 2PCS

1PC 10PCS 4PCS 1PC

2PCS 1PC 1PC

1PC 1PC 1PC

24PCS

1PC

1 2 3 4

5 6 7 8

9 A B10

C D E F

G H I J

24PCS

1PC

1PC 1PC

M8*30 M4*22

M3*14

1

2

3

9
7

10

4

5

6

8

K



STEP 2

1PC

STEP 1

No. 2 board 1PC No.3 board 1PC No.4 board
1PC , accessories A 6PCS accessories B 6PCS
accessories C 4PCS Install as shown below

1PC 1PC 1PC2 3 4 6PCS

6PCS 4PCS

A

M8*30

B C

A

C

A
B

C

B

5 1PC6 6PCSA 6PCS

4PCS
M8*30

B

C

No. 2 board 1PC No.5 board 1PC No.6 board
1PC , accessories A 6PCS accessories B 6PCS
accessories C 4PCS Install as shown below

3

2

4

5

2

6

3 4



1PC

STEP 3 STEP 4

1PC 1PC 4PCS

Left d
oor installation

positio
n

Right door installation

positio
n

Left d
oor installation

positio
n

Right door installation

positio
n

G

G

G

G
H

H

H

H

No. 10 board 1PC No. 7 board 1PC , accessories
G 1PC accessories H 4PCS  Install as shown
below

7 1PC10 1PCG 6PCSH

M3*14

1PCJ

The first step + the second step, the NO.7 board
1PC, the NO.8 board 1PC   accessories A 4PCS
accessories B 4PCS accessories C 4PCS Install
as shown below

A

B

C

8 9 A 4PCSB

C 4PCS

M8*30

J

10

7

7 3
2

7

8

9

5 6

H



7 8

STEP 5 STEP 6

A1 4PCS4PCS 4PCS

AB
C

The first step + the second step, the NO.7 board
1PC, the NO.8 board 1PC   accessories A 4PCS
accessories B 4PCS accessories C 4PCS Install
as shown below

4PCSA B C

M8*30

AA

B

C

The fourth step is completed, the NO.1 board
1PC   accessories A 4PCS accessories B 4PCS
accessories C 4PCS Install as shown below

1PC B 4PCS C 4PCS

M8*30

7

8

5

2

6

1



STEP 7

9 10

STEP 8

1PC 2PCSF1PC

E

M4*22

D E

F

D

10
10

8

Tilt the door panel so that the door
panel enters between the 7th and
8th panels, and move the door panel
to make the accessories enter the
empty space

10

7
7

No.10 board 1PC，accessories F 2PCS install
as shown below.

F



12

STEP 9

11

4PCSH

I

H

Accessories H 4PCS accessories I 4PCS Install 
as shown below

4PCSI
M3*14

9

STEP 10

K 8PCSK

K

K

K

K
K


